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PHILOSOPHY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The self is related to the body according to the Vai$esikas by the relation

(1) Svariipa (2) Samavaya
(3) Sarhyoga (4) Visesanata

According to the VaiSesikas the absence of knowledge resides in human self by the
relation of

(1) Sarhavaya (2) Svariipa
(3) Sarhyoga (4) Vaisistya

Which one among the following is the Samavayikarana of the world in VaiSesika philosophy ?

(1) Trasarenu (2) Dvyanuka

(3) Parmanu (4) I8vara

Akada, Kala and Dik all these three dravyas have some common characteristics. Select
which one correctly states those characteristics :

(1) one, physical (bhuta) and eternal
(2) one, eternal and composite

(3) one, all-pervading and eternal
(4) many, all-pervading and eternal

Which one among the following is not a nitya dravya ?
(1) Atman (2) Akasa
(3) Visesa (4) Kala

Consider the Assertion (A) and Reason (R) and select the correct code given below :
Assertion (A) : Akadatva must be a jati.

Reason (R) : Itis an essential characteristic of akasa.

Codes :

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true and (R) is not the correct explanation of (A).

(3) (A)is false and (R) is true.

(4) Both (A) and (R) are false.
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10.

“Self-identity does not belong to various perceptions by uniting them together, rather it is
merely a quality which we attribute to these perceptions because of the Union of their
ideas in the imagination” is the view of which one of the following philosophers ?

(1) Hume (2) Spinoza
(3) Kant (4) Kierkegaard

“Bodies have no existence without a mind; and it is a contradiction in terms to say those

matter exists unperceived by any mind” is the view held by
(1) Berkeley (2) Leibnitz
(3) Spinoza (4) Hume

Consider the following statements with reference to Kant and select the correct code :

(i) Kant rejects the notion the space and time are concepts which have been derived

from our experience of relations between things.

(i1)) Kant accepts the notion the space and time are concepts which have been derived

from our experience of relations between things.

(ii1)) Kant rejects the notion that space and time are concepts which are not derived from

our experience of relations between things.

Codes :
(1) Only (1) is true. (2) Only (i) and (ii) are true.
(3) Only (i1) is true. (4) Only (ii) and (iii) are true.

Given below are two statements, one labelled Assertion (A) and the other labelled as
Reason (R). Considering (A) and (R) with reference to Descartes’ concept of substance,

select the correct code :

Assertion (A) : Mind and Body are two relative substances.

Reason (R) : Mind and Body are dependent on each other.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.
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11.

12.

13.

14.

15.

16.

Which one of the following statements is true with reference to Locke’s theory of
causality ?

(1) The idea of causality is not derived from voluntary action.

(2) The idea of causality is necessarily connected with uniformity.

(3) The idea of causality is derived from voluntary action and is not necessarily
connected with uniformity.

(4) The connections and dependencies of cause and effect on each other can be
discovered in our ideas.

In Smirtithere is a mental creation of world under the influence of Avidya as aided by the

impressions of waking experiences is the view upheld by

(1) Mimarsa (2) Vedanta

(3) Nyaya (4) Buddhism

‘Dosa is the cause of aprama and Guna is the cause of Prama’ is upheld by

(1) Visvanatha (2) Gautama

(3) Kumarila (4) Abhinavgupta

‘The verbal suffix is the sentence’, is the view held by

(1) Vedanta (2) Buddhism

(3) Mimamsa (4) Nyaya

According to which of the following schools the meaning of words can be learned only

from their use in sentences ?

(1) Navya-Nyaya (2) Nyaya
(3) Mimarmsa (4) Vedanta

Match the List — I with List — II and select the correct answer by using the codes given
below :

List—1 List— 11
a.  Attention which fixes anything in the 1. Nibandha
mind
b.  Association which connects different ii.  Parigraha
experiences

c.  Characteristics mark that recalls to which 1ii.  Pranidhana
an object belongs.
d.  Ownership which is suggestive of the iv. Laksana

owner
Codes :

a b c d
(1) ii i il iv
2) i iv i il
3) iv i i il

@) i i iv i
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17.

18.

19.

20.

21.

22.

23.

24,

While propagating the theory of illusion, which one of the following philosophers argued
that ‘the world of sense is an illusion’ ?

(1) Francis Bacon (2) Parmenides

(3) Protagoras (4) William James

Which one of the following philosophers argued that the source of error is the disparity
between the finitude of the human intellect and the infinitude of the human will ?

(1) Descartes (2) Locke
(3) Bradley (4) Kierkegaard

The distinction between ‘propositions of matters of fact’ and ‘propositions of relations of
ideas’ was made by

(1) Locke and Berkeley (2) Berkeley only
(3) Hume and Locke (4) Hume only

Write the correct sequence of the following concepts according to Hegel :
(1) Thesis, synthesis and antithesis ~ (2) Thesis, antithesis and synthesis
(3) Synthesis, thesis and antithesis (4) Antithesis, thesis and synthesis

Which pair of philosophers holds the view that ‘I can be aware of myself without being
aware of an object’ ?

(1) Locke and Hume (2) Berkeley and Locke
(3) Hume and Spinoza (4) Hume and Berkeley

Manas is the Samkalpatmika Vrtti of Antahkarana, is the position held by
(1) Nyaya (2) Mimamsa
(3) Advaita Vedanta (4) Buddhism

The cognition of silver in the shell is erroneous because it manifests the non-existent silver
as existent and we become conscious of this when our first cognition of silver is
contradicted by the subsequent cognition of shell, is an example of

(1)  Akhyati (2)  Anyathakhyti
(3) Asatkhyati (4) Atmakhyati

According to Nyaya, which of the following requires conscious reference to a past and a
present state of the same object ?

(1) Smrti (2) Anandhyavasaya

(3) Pratyabhijna (4) Nirvikalpaka Pratyaksa

Paper-I111 8 J-03-16
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25.

26.

217.

28.

29.

30.

Which of the following statement is not acceptable to Nyaya ?

(1) Indriyarthasannikarsa janyam jnanam pratyaksam

(2) Dravyasrita jneya nirguna niskriya gunah
(3) Samdigdhasadhyavan paksah
(4) Arthakriyasamarthya is the criterion of existence

Match the List — I with List — II and select the correct answer by using the codes given

below :
List— 1 List— 11
a.  Presence of middle term in all positive 1. Vipaksasatva
instances -

b. Absence of middle term in all 1.  Asatpratipaksa
negative instances

c. Middle term must not aim at iii.  Sapaksasatva
contradictory objects

d. Absence of contradicting reasons iv. Abadhitvisayatva
leading to contradictory conclusion

Codes :
a b c d

(1 i v 1 il

2) i i v

3) i i v il

4 1 i oivooi

Which type of hetvabhasa is committed by the following annumana ?
Select the correct code.
‘Manimayah parvatah vahniman dhtimat’

(1) Anupasarhhari Savyabhicara (2) Asrayasiddha
(3) Svariipasiddha (4) Badhita

Select the correct sequence :

(1) Kama, artha, dharma, moksa
(2) Moksa dharma, artha, kama
(3) Dharma, artha, kama, moksa

(4) Dharma, kama, artha, moksa

According to Sri Krsna Varna is divided on the basis of

(1) Jati and Karma (2) Guna and Karma
(3) Jati and Guna (4) Svadharma and Jati

Which of the following is needed by an aspirant of Samyak caritra ?
(1) Siddhasila (2)  Gunasthana
(3) Sadasadviveka (4) Pancavrata

Paper-I111 10
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31.

32.

33.

34.

35.

Paper-I111 12

Which of the following is not a Triratna ?

(1) Sarhyak Dar$ana (2) Sarhyak Jiana
(3) Sarhyak Caritra (4) Sarhyak Samadhi

Match the List — I with List — II and select the correct answer by using the codes given

below :
List— 1 List— 11

a.  Sukhanusayi i.  abhinivesa
b.  Drg-dar§ana-$aktyor-ekatmeva ii.  duesah
c.  Duhkhanus$ayi iii. asmita
d.  Svarasvahi vidhuso’pi tatharidhah iv. raga
Codes :

a b c d
(1) iii il i v
2) v i1 i i
3) i iv 1 il

@ i i i v

Which one of the following has advocated ‘Either freedom of will is a fact or moral
judgement a delusion”’ ?

(1) Martineau (2) Bentham
(3) Kant (4) Spencer

Match the List — I with List — II and select the correct answer by using the codes given
below :

List—1 List— 11
(Authors) (Text)
a Urban i The Language of Morals
b.  Broad ii.  Five Types of Ethical Theories
C R.M. Hare iii.  The Place of Reason in Ethics
d.  Toulmin iv.  Fundamentals of Ethics
Codes

a b C d
(1 1 1 iv il

@) iv i i il
(3) i iv i i
@ i i i v

Which one of the following is inconsistent pair ?
(1) Emotivism — A.J. Ayer

(2) Intuitionism — Martineau

(3) Naturalism — S.E. Toulmin

(4) Rationalism — Kant

J-03-16
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36.

37.

38.

39.

40.

41.

Which one of the following is a statement of naturalistic Ethical theory ?
(1) A good is what a rational person desires.

(2) The good is desirable.

(3) A right action is one that is approved by God.

(4) A right action is one that is approved by my conscience.

Who among the following has said ‘Autonomy is the basis of the dignity of human and of
every rational being’ ?

(1) Ross (2) Hegel
(3) Kant (4) Green

‘John is punished not because he has stolen the sheep but for others may not steal it’.
This statement belongs to which theory of punishment ?

(1) Retributive (2) Preventive

(3) Reformative (4) Sadistic

Which of the following statements is/are true with reference to Bentham and Mill ? Mark
the correct code :

(a) Both believe that man is essentially happiness seeking.
(b) Both believe that ‘Ought’ can be derived from ‘is’.

(c) Both justify the ideal of greatest happiness of the greatest number on the ground of
self interest.

Codes :

(1) (a)and (c)

(2) (a)and (b)

(3) (b)and(c)

(4) (a), (b)and (c)

‘Ought’ originates from external commands. Which one of the following maintains it ?
(1)  Jural theory (2) Intuitionism
(3) Hedonism (4) Idealism

Truth is the attribute of

(1) Term

(2) Proposition

(3) Syllogism

(4) Both proposition and syllogism
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36.

37.

38.

39.

40.

41.

STNTATET | ¥ hiF Fh{daTsl e (g & raf-ad w5 § 2
(1) 99 98 & S Ueh slifegeh =fo arean € |

(2) THIBTAE |

(3) ¥R ERT AT FH & T FHE |

(4) T ERT AT HH & WE FH & |

sreifeifiad ® @ fehae el & Tt & We qoT Toe Sigsiitadt o MRel 1 THH 3R & 2
() = (2) ¥
(3) = 4) W=

ST T ST JT0Sd el {ohaT T foh 3T Hg TRTE off 31 SqieTT o 3E8 3 1 T’
g o IUS % [T g A Tafaa ¢ 2

(1) VR (2) THedTamR

(3) QuRam! (4) WS g

S e et o a= o, frferiad o i aifishee W@ 8 2 W B @ T B |

(a) IH I € o 9 e g 9wy |

(b) IHI T § o mfew &t @ F i far ST EwaAT E

(c) T @ % AUR W ke sAfeRal & shad @ % AR & Iiifae # oy
T

&<

(1) (a) 3R (c)

(2) (a) 3 (b)

3) (b) R (c)

4 (a), (b) & (c)

‘e’ ! TS el ARIN T 2 & | fF=featad 9 9 u &l 98 am=ar € 2
(1) Senfie o (2) FAIIER
(3) HEa (4) SARRER

FeadT e | foheent 1T ¥
1 ==

(2) R

3) —Fa

(4) o SR AEES SH
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42.

43.

44,

45.

46.

If two propositions having the same subject and predicate cannot both be true but can both
the false, their relation is called

(1)  Sub-alternation (2) Contradictory

(3) Contrary (4) Subcontrary

If O proposition is given as false the corresponding A, E and I will be
(1) Aistrue, E is false and I is false.

(2) Aistrue, E is false and I is true.

(3) E s false and both A and I are undetermined.

(4) A s false and E and I are undetermined

Which one among the following is not a law of thought ?
(1) Principle of identity

(2) Principle of sufficient reason

(3) The principle of excluded middle

(4) The principle of non-contradiction

Which one among the following is a tautology ?
(1) PvP 2) P-P
(3) P-~P 4) PoP

Consider the following argument(a) and argument form (b) and answer by marking the
correct code given below :

(a) (Ao>B)-(C oD)
S ADB
®) (P> (@ >s)
- Pp>2(q
(1) (a) is the argument form of (b).
(2) (b) is the argument form of (a).
(3) (a) is the specific argument form of (b).
(4) (b) is the specific argument form of (a).
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42. AT THEHM 3299 AR fa8g ot 51 b o 9T @l 8l Webd € foheq I ot 8 Gehd €, S

Tele T FeT ST &
(1) -3/ (2) izt
3) (4)  FehSd

43. I O qHa Tord & o 399 Fatad A, E 317 [ &1 -
(1) ATELETae 3R] Tod & |
(2) ATEE ETdE I WIE |
(3) E 7o e AR A Td [ gH SAFea € |
(4) AT AR E U [ I AHREd § |

44, 79 @ B A1 U @R & o 1@l g 0
(1) dEe F EEa
(2) AT HRIT I (GGid
(3) ¥ R F GH
(4) atfeRty %1 fagia

45, =1 W DI 9T U YR € 2
(1) PvP 2) P-P
(3) P-~P (4) PoP

46, TrfafEd g (a) 3R R SR (b) W AR ST ik A9 g e wel @ W S @ w
HIT
(a) (A>B)-(C 5D)
LADB
b (P>9- (@ >5)
L pDq

(1) (a), (b) 1 JreRT SR T |
(2)  (b), (a) T i SHRE |
(3) (a), (b) F ORI Iy BMHR & |
4) (b), (a) T ORI T STHERE |
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47.

48.

49.

50.

Match the List — I and List — II and select the correct answer by using the codes given

below :
List-1 List—11

a. FERIO i 4™ figure
b. CAMESTRES ii. 3" figure
c. DATISI iii. 2" figure
d. DIMARIS iv. 1% figure
Codes :

a b c d
) i i i v

Q) iv i i i
3) i i i iv

@) iv i i i

The obversion of ‘No men are perfect’ is

(1)  All men are imperfect. (2)  All perfect beings are men.

(3) No perfect beings are man. (4) Some perfect beings are men.

Which one of the following is equivalent to~p > ~~q?
(1) g>~p (2) pvgq
B) p>oq (4) ~p>~q

Match List — I with List — II and select the correct code given below :

List—1 List— 11
a. Exportation i. (po>q=(~q>~p)
b. Tautology ii. P> =(pvq)
c. Transposition iii. p=(p-p)

d. Material implication iv. [(p-q)>r]=[p>(q>1)]
Codes :
a b ¢ d
() i i v
2) v i i i
3) iv il 1 il

@) i iv i i
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47. gt — 1 g — [ ¥ GATeId SIS SR Gt e Sl 9a HiTT

Y o o

(1

=it - | =it - 11
FERIO i, T AR
CAMESTRES ii. TR 3R
DATISI iii. ERT AHR
DIMARIS iv. T 3HR

a b C d

i i v

2) v 1w 1 1

©)

i 111V

@) iv i i i

48. “wis ff T U T & TW U 1 SAGES &

(1
)
3)
4

Tt IS 31Ut € |

Tt o7 WOl AT € |

=ig i ol ol o @ ¥ |
% o7 WO AT & |

49, FEAAIITHTH ~p>~~qFH TITA & ?

(D
3)

50. gE— 1 gt — [1 ¥ e HIT 31 Tel $ T T9- HINTT

q>~p (2) pvgq
pP>q 4) ~p>~q

=it - | =it - 11
a. TEFIIICYH i. (po>q=(~q>~p)
b. Zferersit ii. (po>2qQ=(~pvQ
c. grEuiSer iii. p=(p-p)
d. HAfeiaet serehem v, [(p-q)or]=[p>(q>1)]
FT
a b ¢ d
(1 i
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51. Match List — I with List — IT and choose the correct answer by using the codes given blow

List—1
a. Hinduism
b. Buddhism
c. Jainism
d. Islam
Codes :

a b

(1) i1 v
(2) v il
3) ii i
4 i il

ii.
1v.

i
v

v

List— 11
Five main pillars

Saptabhaginaya

Pratityasamutpada

Varnasrama

il

il

il

52. Match List — I with List

List -1

The Holy Ghost 1.

a
b. Ahramazda
c
d

Talmud

. Gurubani

Codes :
a b

(1) 1 i
2) 1 i
3) i v
4) v i

il

v

il

11.

1il.

1v.

v
iii

i

List— 11

Zoroastrianism

Christianity
Sikhism

Judaism

53. Karma siddhanta in Hinduism means

(1) Fatalism

(2) The doctrine of Moral causation

(3) Doing Karma expecting the result

(4) Performing sacrificial rites

— IT and choose the correct answer by using codes given below :

54. “All aspects of a thing are real, whereas the thing is a mere logical construction” is the

view of
(1) Frege

(3) Wittgenstein

Paper-I111
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51. & — 1 Gt — [1 & @1 Gaferd Y 31T A9 ST T el & Tel ST BT o9 Hh

=it - | =t - 1
a. &g i. U= g Ty
b. a5 ii. o e
c. S iii. WetcaETcE
d. 3=TH iv. aonsH

T

a b c d
(1) i v 1 ii
2) v i il i
3) i 1 iv il
4) 1 i iv il

52. At — 1 & gt — 11 % |1Y AT T 31X ST TT el 1 ITART Rl §¢ Tal IR 1 997
FHIT

= - | =it - 11
a. Ua Ud i, SIRfEET ey
b. 3TETHSRT ii. IO YW
c. TS iii. TR g9
d. TEaE iv. s ad
T4

a b c d
(1) 1 i i v
Q) i i iv i
(3) ii v i i

4) iv il il i

53. e o o 4 fogia @ shmm &
(1) wvgaR
(2) =fae HROET 1 fHsid
(3) UROTH ST HA T HH FHAT
(4) I HIA FHAT

54, “fordt fawr o oft vee] aumd €, Staf fowe AT difchsh SReT &7 e ot 7 § 2
(1) W () W
(3) fom=A (4) oA
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55.

56.

57.

58.

59.

Theoretical reasons for a distinction between “there is” and “exists” has been accepted by
Frege in order to explain

(1) Identity (2) Negative existential

(3) Indirect speech (4) Propositional attitudes

Consider given Assertion (A) and Reason (R) and then mark the correct option as given

below :

Assertion (A) : “The test of truth is its practical consequences.”

Reason (R) : Pragmatism determines the truth or falsity of propositions according as
they do or do not fulfil our purpose.

Codes :

(1) Both (A) and (R) are correct and (R) provides a correct explanation of (A).

(2) Both (A) and (R) are false.

(3) (A)istrue and (R) is false and (R) does not provide correct explanation of (A).

(4) (A)is false and (R) is true and (R) provides incorrect explanation of (A).

Which of the following condition is unacceptable to Donald Davidson with regard to two
people having benefits about the same external object ?

(1) Belief about oneself

(2) Belief about other people

(3) Belief about language rules.

(4) Belief about the world come into existence jointly

Consider the following pairs with reference to Hermeneutics and mark the correct code ;
(i)  Friedrich Schleiermacher — Romantic Hermeneutics

(i1)) Heidegger — Radical Hermeneutics

(ii1)) Derrida — Hermeneutics phenomenology

Codes :

(1)  Only (1) is correctly matched.

(2) Only (i) and (i1) are correctly matched.

(3) Only (ii1) is correctly matched.

(4) Only (i1) and (ii1) are correctly matched.

Noesis in Husserl’s phenomenology refers to
(1) Real content of an intentional act

(2) Ideal content of an intentional act

(3) Real content of an unintentional act

(4) Ideal content of an unintentional act
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55.

56.

57.

58.

59.

T R “BIaT & 3R “€” o ard foug & fote dgifaes wRor o6t feited § fhd e e & fow
T fopar T € 2

(1) d&e" (2)  3T9ETCHS T

(3) RIeT FEA (4) THATHEIE g

AMH (A) 3R HRT (R) W faaR 2 R e 5T 70 Tl foehed &1 9a &

AMHHYT (A) : FAAT ol TR ST AR oA | ¢ |

aF (R) : FolaTs [ohdt qehaTeRT i Fedal 3Tl ST o1 FERT 39 51T 801 JASHT B 1T
I AT e HA o SR W i Far € |

HE

(1) (A) 3T (R) 3HT Tl & 3R (R), (A) I Tl AT HT € |

(2) (A) 3T (R) THI ToAT & |

(3) (A)Tel ¥ 3R (R) 7ot € 1 (R), (A) Sl Wel oA Fal el € |

(4)  (A) T & 37 (R) el € 3R (R), (A) T Teld ST Hl € |

T &l STl o o AN | &1 AN ol TRt o Hey # Feiichd § i I eee Sfaed
T T 2

(1) @& & IR g favara

(2) T h IR favard

(3) o I % SR | favara

(4) Tavarg & st 1 st 9gad ©9 F & € |

gHiffes & T o FiTehd I R foam Y W&l e 1 T Y
(i) heR® WRRAER  — UHileH ggfHiead

(i) eEER — et e
(iii) efeer — gHIffeE HHAETS
R.

(1) aet (i) T& gafea ¢ |
(2) FaeA (i) 3R (i) T gAfera € |
(3) I (iii) TE GATT & |
(4) A (ii) 3R (iii) Tel AT € |

T ! GeATHAICAST H TUEd’ 1 37 &
(1) fowamed e &t arias sTtes]
(2) TameT s o Teel Steg]

(3) eAfowaTEt Tt ardfa STaa]
(4) SO TRt B BTRRT STe]
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60.

61.

62.

63.

Who among the following philosophers is responsible for shifting the centre from
consciousness to existence in phenomenological studies ?

(1) Husserl (2) Heidegger

(3) Hegel (4) Kierkegaard

Match List — I with List — IT and choose the correct answer by using codes given below :
List—1 List—11

a. Suddha Advaita i. Nimbarka

b. Dvaitadvaita ii. Vallabha

c

d

. Advaita iii. Madhva
. Dvaita iv. Samkara
Codes :

a b c d
(1) 1 1 iv il
2) i no i iv

(3) i iv i i
@) iv i i i

Consider given Assertion (A) and Reason (R) in Samkara’s view and then mark the
correct option from given below :

Assertion (A) : Brahman is abhinnanimittopadanakarana of the world.

Reason (R) : There is nothing else other than Brahman.

Codes :

(1) (A)is false and (R) is true and (R) provides the correct explanation of (A).

(2) (A) and (R) are both true and (R) provides the correct explanation of (A).

(3) (A)is true and (R) is false and (R) does not provide correct explanation of (A).
(4) (A) and (R) are both true and (R) does not provide correct explanation of (A).

Match the Status of Jagat with the view of the following Vedantins of List — I and List — II
and choose the correct answer by using the codes :

List—1I List— 11

a. Sat i.  Madhyamika Buddhism
b. Asat 1. Madhva
c. Sadasat iii. Bhartrprapanca
d. Sadasadvilaksana iv. Sarkara
Codes :

a b ¢ d
(1) 1 iiv i
(2) ii i il v

(3) iv i i i
@) i iv i i
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60. Tr=ifhd H @ T I HAHATASThel 37T & whg &l - ¥ T H Neidd & o o
IIEE T ?

(1) o (2) ERESR
(3) & @) fesme
61. Il — I Tl — 1 § GATId ST 31X 7T 7T Fi T el SR B 99 HINTT

= - | =it - 11

a. YEEA i. s

b. sdmEd ii. oo

c. 37gd iii. we

d. &a iv. v

T
a b c d

(1 i i iv il

) i i i v

(3) i iv i i
@) iv i i i

62. T % TH H T MU HHAT (A) 3R T (R) W AR AT 3R qeavarq f5u mu 9@t fasea
T T HY
AU (A) : T fave T AR & |

% (R) : 5T&T & 37T $2 o T&l ¢ |

YA

(1) (A)Ted & 31T (R) Tl & 31T (R), (A) i Tel SARAT USH H & |

(2) (A) 3T (R) 31 T&l € 3% (R), (A) I Tel AT U5 HAT & |

(3) (A) Wl g 3R (R) TToid & @ (R), (A) T Tel e UM el e € |

(4)  (A) 3T (R) THT W&l & 3T (R), (A) I W&l ARAT UG =T&T AT & |

63. Al — [ AR gal — [ | H=ATeiiad g7t o foeari | STa st fefd &6 e Sifse $i) e
el W Tel TR BN T DI :

e - | =t - 11
a. §a i. Tt oy
b. 3T8q ii. W
c. WEEd i, wgwaa
d. GEHEOEOT  iv. ¥
HE:
a b c d
(I i iiiv i
() i i iii v

(3) iv i i i
@) i iv i i
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64. Moksa in Vedanta means

(1) Freedom to be free from gross body (Sthula Sarira)
(2) Freedom from all empirical limitations.
(3) Permanent stay in Svarga

(4) Occasional visit to heaven

65. The meaning of the word Mithya according to Advaita is
(1) The world is not at all empirically real.
(2) The world is absolutely non-existent.
(3) The world is not transcendentally real.

(4) The world is mistaken for Brahman.

66. All the following propositions are false, except :
(1) Karma-yoga is advocated by Sarhkara as a primary means to Mukti.
(2) Karma-yoga is advocated by Sarikara as a primary means to Videha Mukti.

(3) Jhana-yoga is advocated by Sarikara as a primary means to Jivan Mukti.

(4) Jhana-yoga is advocated by Sarikara as a primary means to Videha Mukti.

67. Match List — I with List — II and choose the correct answer by using the codes given below :
List—1 List—11

a. Tadatmya of Jiva and Brahman 1i. Madhva

b. Sadrsya of Jiva and Brahman ii. Sarkara
c. Jiva as Visésana of Brahman ii.  Nimbarka
d. Jiva as having bhedabheda iv. Ramanuja

Sambandha with brahman
Codes :
a b ¢ d
(1) it v il 1
2) i i iv il
3) iv i i i

4) m u 1 1v
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64.

65.

66.

67.

AT | HieT ¥ AT &
(1) Yol IR | o & ! Wl (TeT IRR)
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68. Match List — I with List — II and choose the correct answer by using the codes given below :

List—1 List— 11

(Authors) (Texts)
a. Mahadev Desai i.  Gandhi Ki Shava Pariksa
b. Gandhi ii. The Annihilation of Caste and a Reply

to Mahatma Gandhi

c. Yashpal ii1.  Women and Social Justice
d. Ambedkar iv. The Story of Bardoli
Codes :

a b c d
() iv il i ii
2) i i v i
3) i iv i i
@ iv i il i

69. Match the following and choose the correct answer by using the codes :

List—1 List— 11
a. Gandhi i.  Maya is simply a statement of facts, as they exist.
b. Tagore ii.  Evolution is preconditioned by involution.
c. Sri Aurobindo 1iii. As soon as we lose the moral basis we cease to be
religious.
d. Vivekananda  iv. He (man) is earth’s child but heaven’s heir.
Codes :
a b c d
(1 i iv i il

@) i v i i
(3) i  iv i i
@ iv i i i

70.  Which one of the following is not true according to Gandhi ?
(1) Ahirsa is a practical expression of Satya.
(2) Man can know the absolute truth.
(3) There is a chain of ends and means of values.

(4) Satya and Ahimsa are inseparable.

71.  Anti-Untouchability fasting was started by Gandhiji against
(1) British Government (2) Savarna Hindu
(3) Christian (4) Sanatani Hindus
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68. T — Il Tl — [1 & @1 Aot Y TS Tel H BT o9 Hh

=i - | =t -
() (=)
a. TEREIWE i T o adren
b. e ii. T AfTectem 3k e e o7 g  wereT et

c. T9UTA iii. 9HT UUS QRIS SeH
d. rEE iv. TR AE aEe
- T
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() iv @i i i
2) i i v did
3) i iv 1 il
@ iv i il i

69. T — I Tl — [1 ¥ AT Y T4 - f§T T3 e T Tel ST BT o9 Hh

= - | =t - 1
a. e i, O G e B e, S R A
b. R ii. STV STEETT Bl YeardT UfshaT T Hiders & |

c. st aRfa< iii. 9 2 en Ald® U @l °d € &F 4ifeh el e ¢ |
d. foaem= iv. o (FI) GG @ &, Fohe] & T ol STieeRy
FH

a b C d
v i i

—

(D
@) i v i il
(3) i iv i i
@ iv i il i

70. TreAfeiEd & @ et % W H B | HT T TRl § 2
(1) 31, 9 ot AR e & |
(2) T GOl G B ST GohelT € |
(3) TR U Qe Todl P U SEel ¥ |
(4) T Ue e AT € |

71, 3TegvEdn foRiet Suary et 7 gk foreeg fopa o
(1) Tofesr TR (2) wavlfeg
(3) zE (4) T feg
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72.

73.

74.

75.

Match the List — I with List — II and choose the correct code :
List—1 List— 11
(Authors) (Texts)
a. Gandhi 1. Gandhiji in Indian Villages
b. J.B. Kriplani ii.  Ethical Religion
c. Mahadev Desai iii. The Philosophy of Mahatma Gandhi
d. Datta D.M. iv. The Gandhian Way
Codes :
a b c d
(H i v 1 i
2) i v i
3) ii i i v

@ iv i i i

“Natural Right is one of self-preservation” is the view held by
(1) Hobbes (2) Paine
(3) Kant (4) Aquinas

Hermeneutic circle, according to Gadamer, refers to
(1) Co-determination of text and reader

(2) Co-determination of text and author

(3) Co-determination of text and context

(4) Co-determination of author and reader

Consider the following statements in the light of Schleiermacher’s theory of Hermeneutics

and mark the correct code :
(i) Problem of interpretation is the problem of understanding.

(i1)) Hermeneutics is an art of avoiding misunderstanding.

(ii1) Extended the domain of hermeneutics from deciphering sacred texts to all human

texts and modes communication.
Codes :
(1) Only (i) is true.
(2) Only (1) and (i1) are true.
(3) Only (i) and (iii) are true.
(4) Al (1), (i1) and (iii) are true.
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72.

73.

74.

75.
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